SEDANJIK

PRESENT SIMPLE

Trdilna oblika: Nikalna oblika:

I I

You + 1. glagolska oblika You +don't
We We + 1.gl.obl.
They They

kones

He He

She +1. Glagolska oblika, She +doesn't
It +s It + 1.gl.obl.

Vprasalna oblika:

Do + You
We
They
He
Does + She
It

| live in Ljubljana.

She lives in Ljubljana.
They live in Ljubljana.
PRESENT CONTINUOS

Trdilna oblika:

+ 1. Glagolska oblika

| don't live in Ljubljana.

She doesn't live i Lj.

Do they live in Lj?

Nikalna oblika:



[ am I am not

You + 1.gl.obl. You

We are +ing We aren't
They They

He He

She is +1.gl.obl.+ing She isn't
It It

Vprasalna oblika:

Do + You
We
They
+ 1. Glagolska oblika
He
Does + She
It
| am watching TV. | am not watching TV.
She is watching TV. She is not watching TV.
They are watching TV. Are they watching TV?
PRETEKLIK
PAST SIMPLE

Trdilna oblika: Nikalna oblika:



You
We
They +glagol
(v 2. Obliki)
He
She
It
Vprasalna oblika:
I
You
We

Did They

He
She

| watched TV.

| was at school last week.

You

We

They +didn't
+1.gl.obl.

He

She

It

+1.gl.obl.

| did not watch TV.

| was not at school last week.

They were at holidays last week. Were they at holidays last..?

PAST CONTINUOUS

Trdilna oblika:

|

You +were
We

Nikalna oblika:
I
You +weren't

We +1.gl.obl



They +1.gl.obl They +ing

+ing

He He +wasn't
She +was She +1.gl.obl
It It +ing
Vprasalna oblika:

|

You
Were We

They +1.gl.obl.

+ing
He

Was She

It
It was raining when i went out. It was not raining when...i Was playing
tennis. | was not paying tennis. At 3 o'clock
yesterday she was having a lunch. Was she having a lunch
yesterday at 3 o'clock?
FUTURE »GOING TO«
Trdilna oblika: Nikalna oblika:
I Am I am not
You You
We Are We aren't
They +1.gl.0obl They +going to

+going to +1.gl.obl



He + Casovni He
She is prislov( na She isn't
It koncu) It

Vprasalna oblika:

Am I
You
Are We
They +1.gl.0obl.
+going to
He +cCasovni prislov
Is She
It
| am going to fall into a hole. | am not going to fall into a hole. You

are goingto buy a hause. You are not going to buy a house. He is going
to get a bad mark. Is he going to get a bad mark?

FUTURE »WILL«

Trdilna oblika: Nikalna oblika:

I I

You You

We We

They +will They +won't
+1.gl.obl. +1.gl.obl.

He He

She She



It

Vprasalna oblika:
|
You
We

Will They

He
She

| will travel to the moon.

+1.gl.obl.

| won't travel to the moon.

| think it will

rain tomorrow. | think it won't rain tomorrow. He 'll be fourteen years old
Will he be fourteen years old in December?

in December.

PRESENT PERFECT TENSE

Trdilna oblika:

I

You +have
We

They

He
She +has
It

Vprasalna oblika:

You
We
+3.gl.obl
+cas.prislov
He
She

+hasen't

Nikalna oblika:

+haven't

+3.gl.obl

+cas.pr.



You

Have We
They +3.gl.0obl.
+cas. pris.
He
Has She
It
They have lived in Ljubljana for 10 years. Have they live

in Lj for 10 years?

years.

They have been living in L) for 10
They haven't been living in L) for 10 years.



